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L Choose e correct answer (B521=%)
mis13115 zo-m-mmm-mmu,pm_ht
(@) PACKET b) POCKET c) PACKER d) PACKED
(¥) COOKER - The number this word represents s 215 15 1l 5 12
a)3151511519 b)3 14 14 11 5 18
(3151511518 ¢)3 151511 6 18
(W) ¥ TEST = 64 then BEST = 4. L
%) 46 b) 47 c) 48 d) 45
(w) HGRATER =7 18 1 20 5 18thenPEELER = JC £ 512 612
a)16 56125 18 b)16 5 513 5 18
)16 55125 19 @165512518
rvrﬂmhmmm;i—i:
2) MAT = 24 b) BAT = 24 c)FAT =~ 24 @m*r-ﬂ
2. Fil In the blanks. 5x1=5)
()9 £ 300 mt = Q324 i
(§) BOOO mf = 2 ¢
(W) 2500 mf = 1 3 San mil
v) 4100 mf = . ¢ r. lan il
(v) 7 £ T00 mf = 1las ol
(5x1=5)
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The fraction of juavas a frult sefler had in three baskets is as follows:

Fra sasker -3
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() The fraction that represents the sum of the guavas in the first and the third basksts |s

_l;%, . (2)
1 L !
() The fraction that represents the number of guavas that is mora in the third basket than
that in the second basket Is 0 (2)
| |
7. Divide 1 l_ (5)
() 9000 + 3 (h) 8888 - B8 () 6426 « 6 (1+24+2)
05, ) ol S 0
*‘31 101 8123 6 4 ‘r”
i { ¢
. +*"L -5-11 { l l
'-.‘ - (&) *_;‘, ) \4 1_ !
i - o o |
63 — & '
8. Find the volume —— & © | (5)
J 0
(1) The volume of a cubold = i_ * _L x L cublc unils. (1)
f U
m v () N & (2+2)
ocm
Vnk.lm- = 1L u Volume =
¢ yxéx3 I 7Y
g \_JLL/ L x 3}
21 S Wl 70LCm b 727
| 9. Observe the note given and fill in the table. (5x1=5)
st Note Fraction Decimal
4% 6 g
10 * - 0.9
f
IE— 1y Nine point seven .ji_g_ T
by
s
) 0.5
a_-6 2
10 10 o Q.4
Twenty point four 'ILE;-TL'L 0-L0\
10.Answer the following. (5
']_J, 0Og0
qu Soo 7 31,051‘3
£1500 32,000 e37,000 29500 37,0900
(1) What are the items Kayal can buy If she has 62,0007 6%, 000 (1)
o &b
1,0 )
J1,000 M&I‘I&Loh ond -hm‘é.l.hs Inmju:.& 37,000
aﬂ;soi s ana il rlq, SDO

61500
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(B Mow much more doss the rafrigerator cost than the washing machine? (2)

Any 07,560

ﬂ"’rﬂ ™ L
i | B S
.l!.r!l,ﬂ

mm--nmmmmm Hlllriwmlowy-mmhﬂfwmh'm‘;
how much money will he need? (<)

31,000
)
xm Y B 1256 000

11. Find the LCM and convert to like fractions. (5)
(DTe lCMof 4 and 3 is = L1 ()
g2 5092 3 1 343 N 242
m%'; k21 11 f'}4-3 v rd 12 ket
x4 8 . N
b /SwiL

Ly 3|3 0 - T
12 ) .
, L.CM of 4,3 = xkx3u

yzulﬂ =L
3x 3y
‘ (5)

(1) The area of a square with a side lengthof m=__ 8  sqm.

(W) Find the area of a Kho—Kho fisid with a length of 25m and a breadth of 16m. (2)
(1xb)
25 M $ U 25matem
R ey
A A% Loo
(W) A wall of length 15m and breadth 3m is to be painted. If the labour cost for painting
1 sq.m is 730, what would be the total labour cost for painting the wall? (2)
| (1xb)
Il:1: 3o0x34
- -F-:':r‘r’"—_" h — \\gD
'j_cbq,h 230 o
. 3¢ g =1l L;ao
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